## **BPOMAS Radiographer Tariffs 2022-2023**

Procedure Code	Procedure Description	Units	Unit Value	PayType (BPOMAS ALL)	Bpomas 2022-2023
39001	Finger, toe	12.3	5.4	66.40	68.40
39001	Limb per region, e.g. shoulder, elbow, knee, foot, hand, wrist or ankle (an adjacent part which does not require an additional set of views should not be added, e.g. wrist or hand)	12.3	3.4	00.40	08.40
39003		16.2	5.4	87.50	90.13
39007	Stress studies, e.g. Joint, standing knees	16.2	5.4	87.50	90.13
39009	Length studies per right and left pair of long bones	16.2	5.4	87.50	90.13
39011	Skeletal survey under 5 years	48.5	5.4	261.90	269.76
39013	Skeletal survey over 5 years	52.3	5.4	282.40	
39015	Arthrography per joint	39.5	5.4	213.30	219.70
39017	SPINE Per region, e.g. cervical, thoracic, lumbar, sacrum, coccyx	24.6	5.4	132.80	136.78
39021	Stress studies	10	5.4	54.00	55.62
39025	Scoliosis studies	39.3	5.4	212.20	218.57
39027	Pelvis or hips or SI joints	17	5.4	91.80	
39029	Lumbar Myelogram	43.1	5.4	232.70	239.68

39031	Thoracic Myelogram	40.1	5.4	216.50	223.00
39033	Cervical Myelogram	59.4	5.4	320.80	330.42
	Multiple Myelogram (lumbar, thoracic, cervical): Same fee as for first segment (no additional introduction of contrast medium)				
39035			5.4	0.00	0.00
39037	Discography	31.5	5.4	170.10	175.20
39039	Skull studies	32.3	5.4	174.40	179.63
39041	Paranasal sinuses	17	5.4	91.80	94.55
39043	Facial bones and/or orbits	34.9	5.4	188.50	194.16
39045	Mandible	26	5.4	140.40	144.61
39047	Nasal bone	16.2	5.4	87.50	90.13
39049	Mastoid: Bilateral	50	5.4	270.00	278.10
39051	One quadrant	7.7	5.4	41.60	42.85
39053	Two quadrants	8.5	5.4	45.90	47.28
39055	Full mouth	10.8	5.4	58.30	60.05
39057	Rotation tomography of the teeth and jaws (Panorex/OPG)	14.6	5.4	78.80	81.16
39059	Temporo-mandibular joints: Per side	19.2	5.4	103.70	106.81
39061	Tomography: Per side	30.5	5.4	164.70	169.64
	Localisation of foreign body in the eye (soft tissue)				
39063		30.7	5.4	165.80	170.77
39065	Ventriculography	37.4	5.4	202.00	208.06
39067	Post-nasal studies: Lateral neck	10	5.4	54.00	55.62

	Maxillo-facial cephalometry				
39069		26.9	5.4	145.30	149.66
39071	Dacryocystography	24.2	5.4	130.70	134.62
39073	Sialography (plus 80% for each additional gland)	24.6	5.4	132.80	136.78
39075	Pharynx and oesophagus	22.8	5.4	123.10	126.79
39077	Oesophagus, stomach and duodenum (control film of abdomen included) and limited follow through	31.5	5.4	170.10	175.20
	Small bowel meal (control film of abdomen included, except when part of item 081)				
39079		27.7	5.4	149.60	154.09
	Barium meal and dedicated gastro-intestinal tract follow through (including control film of the abdomen, oesophagus, duodenum, small bowel and colon)				
39081		47.2	5.4	254.90	262.55
39083	Barium enema (control film of abdomen included)	50.9	5.4	274.90	283.15
39085	Biliary tract: ERCP (choledogram and/or pancreatography screening included)	47	5.4	253.80	261.41
39087	Gastric/oesophageal/duodenal intubation control	20.8	5.4	112.30	115.67
39089	Hypotonic duodenography (077 included)	57.3	5.4	309.40	318.68

39091	Oral cholecystography	47.8	5.4	258.10	265.84
39095	Operative: First series	58.1	5.4	313.70	323.11
39097	Subsequent series	24	5.4	129.60	133.49
39099	Post-operative: T-tube	20.1	5.4	108.50	111.76
	Trans-hepatic, percutaneous				
39101		34.6	5.4	186.80	192.40
39103	Tomography of biliary tract: Add	21.5	5.4	116.10	119.58
39105	Larynx (tomography included)	42.4	5.4	229.00	235.87
39107	Chest (one or two views)	19.2	5.4	103.70	106.81
39109	chest and cardiac studies (167 included)	23.1	5.4	124.70	128.44
39111	Ribs	19.2	5.4	103.70	106.81
39113	Sternum or sterno-clavicular joints	24.6	5.4	132.80	136.78
39115	Unilateral	33.5	5.4	180.90	186.33
39117	Bilateral	56.5	5.4	305.10	314.25
39119	Pleurography	15.7	5.4	84.80	87.34
39121	Laryngography	15.7	5.4	84.80	87.34
39123	Thoracic inlet	15.7	5.4	84.80	87.34
	Control films of the abdomen (not being part of examination for barium meal, barium enema, pyelogram, cholecystogram, cholangiogram, etc.)				
39125		17	5.4	91.80	94.55
39127	Acute abdomen or equivalent studies	30.7	5.4	165.80	170.77

39129	Control film included and bladder views before and after micturition	67	5.4	361.80	372.65
39129	Waterload test: Add	20.1	5.4	108.50	111.76
39133	Cystography only or urethrography only	20.1	3.4	108.50	111.76
39135	(retrograde)	37.6	5.4	203.00	209.09
39137	Retrograde	33.1	5.4	178.70	184.06
39139	Retrograde-prograde pyelography	42.4	5.4	229.00	235.87
39141	Aspiration renal cyst	17	5.4	91.80	94.55
	Tomography of renal tract:				
39143	Add	19.2	5.4	103.70	106.81
39145	Pregnancy	19.2	5.4	103.70	106.81
39147	Pelvimetry	35.5	5.4	191.70	197.45
39149	Hysterosalpingography	32	5.4	172.80	177.98
	Tomography (conventional except where otherwise specified): Add 100% provided that if it is more than one dimension, fees shall be charged for the additional investigation at 50% of the rate with a maximum of two additional investigations				
39151			5.4	0.00	0.00
39153	Tomography (multi- dimensional in motion): Add 150%		5.4	0.00	0.00

39155	CT Head, single examination, full series	262.7	5.4	1418.60	1461.16
	CT Head, repeat examination at the same visit, after contrast, full series				
39157		90.2	5.4	487.10	501.71
39159	CT Chest	303.7	5.4	1640.00	1689.20
	CT Abdomen (including base of chest and/or pelvis)				
39161		353	5.4	1906.20	1963.39
	CT Multiple examinations: For an additional part, the lesser fee shall be reduced to				
39163		82.1	5.4	443.30	456.60
39165	CT Limbs and other limited examinations	82.1	5.4	443.30	456.60
39167	Fluoroscopy: Per half hour: Add (not applicable to items 107 and 109)	21.4	5.4	115.60	119.07
33.0.	Where a C-arm portable x-ray unit is used in hospital or theatre: Per half hour: Add		311		
39169		29.6	5.4	159.80	164.59
39171	Sinography	44.3	5.4	239.20	246.38
39173	Bone densitometry	80.9	5.4	436.90	450.01
39175	Mammography: Unilateral or bilateral	58.1	5.4	313.70	323.11
39177	Repeat mammography, unilateral or bilateral for localisation of tumour	58.1	5.4	313.70	323.11

	Attendance at operation in theatre or at radiological procedure performed by a surgeon or physician in x-ray department except 005: Per 1/2 hour: Plus fee for examination performed				
39179		17.6	5.4	95.00	97.85
39181	Setting of sterile trays	3	5.4	16.20	16.69
39185	Where portable x-ray unit is used in the hospital or theatre: Add	19.4	5.4	104.80	107.94
00407	Theatre investigations with fixed installation : Add			14.00	10.11
39187	Preparation in catheterisation laboratory for purposes of cardiac catheterisation and/or invasive intravascular procedures.	8.3	5.4	44.80	46.14
39191		43	5.4	232.20	239.17
	Post-processing in catheterisation laboratory for purposes of cardiac catheterisation and/or invasive intravascular procedures				
39192		43	5.4	232.20	239.17

39193	Coronary angiogram per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
39194	Right heart investigation of valve and venous system of the right heart	43	5.4	232.20	239.17
39195	PTCA per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
39196	Left heart investigation of valve of the left heart and ventrical	43	5.4	232.20	239.17
39197	Stent procedure per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
39199	Vascular Study per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
	Temporary pacemaker procedure per 30 minutes or part thereof provided that such part comprises 50% or more of the time				
39201		43	5.4	232.20	239.17

	Permanent pacemaker procedure in catheterisation laboratory per 30 minutes or part thereof provided that such part comprises 50% or more of the time				
39203		43	5.4	232.20	239.17
39205	Intra-aortic balloon pump procedure per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
39207	Electro-physiological studies per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
39209	Bleomycine and other studies per 30 minutes or part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17
39211	Intra vascular ultrasound per 30 minutes of part thereof provided that such part comprises 50% or more of the time	43	5.4	232.20	239.17

	Rotablator/Laser procedures per 30 minutes or part thereof provided that such part comprises 50% or more of the time				
39213		43	5.4	232.20	239.17
	Embolisation per 30 minutes or part thereof provided that such part comprises 50% or more of the time				
39215		43	5.4	232.20	239.17
	Films are to be charged (exclusive of VAT) at net acquisition price plus: • 26% of the net acquisition price where the net acquisition price of that material is less than one hundred rands • a maximum of twenty six rands where the net acquisition price of that material is greater than				
39300 - x ray films	or equal to one hundred rands		0.0		0.00